T 0.2F : .
© o H .
(N1 REEEE B AR I R SRR
S F b X
el 0_1:_ ............... H | - et
\% F :
0.05F =+t | e
R O e e e
~0.05[ -+t -{- - HH - e
O R O 11| EOR o
=015 ke pe et
.9_0.2_| 1 | 'l M o | MR | o | y 0 b
< T e
RNl iiINilE

0 1 2 3
TP n (PCA to beamline)

< o cot(y) >
o
=
a1

RO
.............

1l . RO
| P PRI B O A Y 1 [ P R T
I

-2 -1

p: : ]
0 1 2 3

TP n (PCA to beamline)

—=— DQM_mkFit_TT_baseline_6iter

—— DQM_mkFit_TT_RetrainV2_WP1_6iter

100

EF [T T
= 80F
" eob- L A
UX 60:— -' .- ; |
o L ! : i
20F - FL A HRTL R

oF : Tl i

E LT TR s

=20E {11 et TR ot

» | N 411

-40 THH 444

-60F---t {14 : :

-80F--| ¥}
o_]_QO:....I....I....i....i....l....
s AWk
o r ; 4

0.5 g !
0 b : HARINE 1
=3 2 -1 0 1 2 3

TP n (PCA to beamline)

<0 / > (Y

PP, > (Y0)

O = N W N O
f

_l_

—oft

—3H

_4 -

—5id |

1.5/ b

232 -1 0 1 2 3
TP n (PCA to beamline)

<od,> (um)
[o})
o

: ¢ b
A N d
: ) : 1
STTTH
A A N R
OLE i : N i : ]
-2 -1 0 1 2 3

TP n (PCA to beamline)



	Contents
	Page 1


